Numbers to 50

LB B ¢

List your answers below.

a8

numbers are there
between 32 and 44°?

How many odd

Tick (v') the box that is easiest to count.
Explain why.

Box A Box B

Two children are counting.

Explain the mistakes made.

04 23, 24 26 27, 28 ]

Dom

[ 19, 20, 12, 22, 23 ; @,

' ‘ I have completed the
@ number track correctly.

3435|3637 (48(39|40|41 |42

Is Jack correct?
If not, why? Explain how you know.

Is Rob correct? If not, what mistake has he

made? Explain your answer.

How many even
Z numbers are there
between 31 and 39?

List your answers below.

Ben is counting from 41 to 49.

Tick (v') the number track that shows this.

41

32

43

34

45

56

47

58

59

41

42

43

44

45

36

57

38

39

41

42

43

44

45

46

47

48

49

41

42

43

34

35

36

47

48

49

There are 24 apples in total.

True or false Explain how you know.
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Numbers to 50

LB B ¢

How many odd

numbers are there
between 32 and 44°?

a8

List your answers below.

There are 6 odd numbers:
33, 35, 37, 39, 41, 43.

Tick (V) the box that is easiest to count.
Expla[n Whg The counters have been grouped in 10s.

Box A Box B
eo® 00 ©
%o | @0 00000
o 909,90 5500 00 ®

v

Two children are counting.
Explain the mistakes made.

g% 23, 24, 26, 27, 28
Dom
[ 19,20,12,22,23 E'
Tam

Dom has missed the number 25.
Tam has mistaken the number 12 for the number 21.

I have completed the
number track correctly.

& J

oo o0 oo e
34

35(36|37 41

48 [ 39 | 40 42

Is Jack correct?
If not, why? Explain how you know.

No, Jack has mistakenly wrote 48 instead of 38 on the
number track.

@ 4[ I have 43 doughnuts in total. ]

Is Rob correct? If not, what mistake has he
made? Explain your answer.

Rob has confused his tens with his ones.
There are 34 doughnuts.

How many even
numbers are there
between 31 and 39?

e.

List your answers below.

There are 4 even numbers:
32, 34, 36, 38.

Ben is counting from 41 to 49.
Tick (v') the number track that shows this.

41132 (43|34 56|47 (58|59

41 42|43 |44 36 (5738|339

4142 (43| 44 46| 47484 |

41142 (43|34 36|47 (48|49

There are 24 apples in total.

Sevelviielts

True or false Explain how you know.

False. There are 23 apples
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